EARAROBREBRT —5 XN—ZXBISH—F

2024558188 (£) 3@E11H

UM C2-2 C2 U5F—i%

‘(fﬁ} W ‘I%EH?’JF&] | & 100 =

[AE%] 17&:700,00 F  27&:245,000 W  337%&:140,000 .~ 43 :105,000H . 5 7&:70,000

B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
VN SRR E—ER 132 -1-1- 0 - =)IE— (&5
118|112 T—ARLATYVT ®78S 1Ef 400 ¢ 2% %W:m
Rd—VRPUa—L B:ELIF—h FrIEFYRT7— LI
=~ SPo~ FEEEAER 132, -6-4- . = hiEts (S50
21811 73vU—=IJxrhk i 56.0 (1735372) e 93 ! (4_929) kEﬂEi‘a -
RiRU—LNLYF/ BOA—VFtEF BTERE
= P HEBK : -2-2- . - #all1gEh (S50
311 1| boALS A= v 4| B 1(73%:)2 3-2-2-2 |39.8 4 (4_8?:1) ks
RiNZ—ka1—X B:~IAARTY RIS
Y3 4 6 | LUIBEEER 1:32.3 5-4-5-4 | 39.5| — 9 501 | BELGE (&4
4l7]9|FVo 5.0 ) Cay | (B JPNEEEH
R:%I77«4 8:)bF—10F Hoh #e
3~ ~ 6 | FIEER 1:32.8 [11-11-11-8|38.6| — | 3 | 514 |BPE- (FH)
5 3 TAVVAILN=2 = a0 212 e | @ J P'l:lj}iﬁﬂ
R:IAYVeAY BIAYVS by RERS
sy N SPoh~ BRI 2 -3-3- - BaXx# (S
6 | Pa—vnwy 8 | AEE (12313/23) 2-3-3-5 | 40.7 8 :1555; el
RiNZ—ka1—R Y4 TRUFRIARFRY ~ BIRHS
Q w t 4 | MDES 1:33.5 6-5-67 |40.5| - 6 | 456 |HIIBE (FH)
7 7 [AbORY—Y— g 56.0 (3/4) 3 |PIRb TFLREL ZFATW (
R:5Z BAFI7=Z-5 mEs
= < £ 6 | AEER 1:33.8 8-8-8-6 |40.4| — | 5 | 492 |HPTF @&FH)
85|65 9IS hALV # 54.0 (1172 1) () c<53a7v—2R
R:ITSvIFIAR B:HI50(U BERY v~
al Yy 1 . -0 —0 — Bl ?Elﬁ _E_
9 8 AS—AVFVIR 8 5 Efaig'f 1.(35.2 9-9-9-9 | 40.8 2 (E?;) gﬁtli;ﬂ (&40
RIN—EVIv— B:ASTIVITSvHLA J—YUTr—Ah
6 | HE% 1:34.9  [12-12-12-12(39.7 | — | 11 | 471 |BBEMEED G50
105(6 | L—TNIb A« ® e | B Tr—abevay
RiW—5—yvF B:I3F4—X35/4Y RS
S — so5 | AEHEER 1:34.9 7-7-7-10 | 41.7| - 10 | 478 |JIBHEH &H0)
11/ 7]10| B— K+~ =) 5.0 F9) (o) |AVBTEK
R:AN/UvF— BNIITF—) BRAHTYRSwT - Tr—L
W 7 | BEEX 1:35.2  [10-10-10-11|41.2| — | 12 | 451 |EPE- (&FH)
1200 4 | LURI Y b 54.0 a1/2 @) | _E)_J PN
RiTSYIIAR BiA—LIA LR TSRS
@ 1—F—@BIEfL
13—F+— 12,7,1,11,9,2,10,5,8,4,3,6
20—F— 12,1,7,9,2,11,10,5,8,4,3,6
Jal=zr= 12,1,7,11,9,2,10,5,8,4,3,6
40—7— 12,1,11,9,7,5,2,3,8,10,4,6
@ Ih\R=E
B B 12 3,240 | | AR 11-12 670M | | # & 8-8 1,620/ | | 3&48 | 1-11-12 3,920
B B 12 400M 1-12 2,540 | | 5= 11-12 2,070 | | =& | 12-11-1 30,810
ik 1108 1-1 40| | K & 12-11 6,190M
1 220M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



